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EXERC256 #33

e bew,mq,v; ot & {,,Wm/wwa&dwafmfﬁj“
5 r fn o et 2pac \/ on& i M{éw;}» éﬂ’\-ﬂ(

B A as N %,) 47»( S s

Y
|y ovest Al @MA wﬁwa/éww 7 vv,,w),/k ._WL
( %" L\:ffz’*“fé) e d";""‘ﬁ“‘ﬁ? ¥ i W Woagresy W 6’?"( Yy piy- 5:»)

/{::M,m ‘wrzms,/t» ﬂ’él’#‘% Ty S

Zz;z»f,v"ﬂ}, J’ﬂ’ﬂ’l/‘/
Ly A M*‘ }}f/&w\/}_ e
W M ’% Y a, fé’i«:m «iw‘,;é%és ,{ e

a’:’}ﬂ‘(»« e _)241%_//4& W ¢ /:/LJ ég . ‘F[/wxwé'f LR ,.,i,\.;,
——
L V6 /‘74/(')1 %1 e
M M

w( o R ) ‘).' e

b
i PR 3
= ‘é S e e Sl 4 a ( bzl l/V[ + b),;, W}, + ‘ ” + b 2 m) e ot et e A s

— (@g b” + ﬁ::;, égg‘l" .Pa)‘/ ﬁ()‘!‘f e e R

§ + (al ‘L"lz+alg’ L‘{'"'“‘"fff}y u,)wu

” QW /ﬁw 47'/[‘”:/ vy m : rias‘: S N,
| e W’i—w‘}f tﬁw%«%’?’ KA % 'f; )"‘V‘é} ol e ST
W /37,1_{,1/,/ L;t:,,,#%/ \./1;’/ .

m q“i




SeCTIer Lt
ExERCISE #3}/W}

’H e -4‘* ﬁ (—élmpl// = 0( ’V f',” "’é(m,{,_,v’il;) e
-——(C p(““PC db’-fh:‘l’ CM&/M()’V

, ““‘L[C i[{szC // ‘P‘“‘"C dw,b)“/v

el L ( C ﬂllfh.+ C é{),é,** 1 6 JML)’V e LN N B O e
S 5""“’1/ ﬁéﬁ’“ G‘i 6 7/’/ ( ‘5/» oty b /L) ﬂzp )

- 7‘74""/ M ”7\/[ »/'J/mmm) = /))"-/(7’;} g %%)

/74/( 2/, e -/‘1/1,/) < 471/[ by Wv JELTNE Wm ) L3 = 4 St

” : /%» ﬁ}AL W W/bu/m %M’C% m A e A P

ﬁ m W L R SRS

..[, —— e

i

i

s = = L _ 5

- - e — s
Pl o = = i




